CITY OF NEW BEDFORD

APPLICATION FOR LAYING DRAIN

Application Nº 19040	Board of Health Permit No		
	New Bedford, Massa July 30, 1969		
To the Mayor and City Council: I hereby request that a drain be laid from	the premises of Kalph Saulnier		
sa Suymour St	260 e of Fort St.		
0	0		
the same to be laid in the street and the surf Works.	ace repaired as directed by the Commissioner of Public		
I hereby agree to pay at the office of the the manner specified, in excess of the deposit the work.	City Treasurer all cost of performing the above work in made herewith, within 10 days after the completion of		
It is understood and agreed that the dep payment of the cost of performing the work be returned to me by the City Treasurer	posit made with this application shall be applied to the done, and that any excess of deposit over the cost shall		
Witness L. Roderick	alsol de Saulnie		
THE CO.	Property owner		
7.3.	Address Slore. A.B.		
Ву	Same		
Requires separate entrance for roof water	Address		
Consent of Owner of Private Drain			
To the Mayor and City Council:	New Bedford, Mass.,		
I hereby grant to			
the privilege of draining premises			
through the private drain owned by me conne	ecting with sewer in		
	street.		
	Owner		
Estimate and	Deposit Requirement		
Office of Con	mmissioner of Public Works,		
My estimate of the cost of laying the drain	n described in the above application is		
Assessed			
Entrance charges	Total deposit required 215.00		
	Commissioner of Public Works		
	Commissioner of Public Works		
Certifi	icate of Issue		
	Office of City Clerk,		
	City Treasurer's receipt presented this day; whereupon		
	d, and the Commissioner of Public Works notified of the		
same.			
	Clearles W. Desay		



NOTICE TO COL	MMISSIONER OF PUBLIC WORKS
Length of drain 33	Deled (0/2/69 00)
Sewer depth	
Surf. drain 7/2	
Drain Permit Nº 19040	City of New Bedford,
	Office of City Clerk, July 30, 1969
To Commissioner of Public Works.	
Permission has this day been issued to	0
By Same	same
	Address
to lay drain from the premises of , Za	lph Saulnier
ss Seignious St. 3	?60'e of Fort St
to connect with the sewer in	Slipmour street.
Laid from main in street to iron pipe in property. Owner agrees to supply all necessary	liarles W. Dean
Liansite pipe.	City Clerk.
Requires separate entrance for sewage and	l roof water

RETURN OF FOREMAN

Entered	AUG - 77#	1969
Time	or Aug.	2
Ву	A Kul	Town
	COST	lessis Toward
Labor	hours	a
Pavares.J.	- 10 "	2.65 \$26.50
Alfonso, J	- 10 "	2.50 25.00
Jardin, J.	- 10 "	2.35 23.50
mbra, J.	8 "	2.46 19.60
cares, P	- 10 "	2.50 25.00
	. "	\$119.58
	"	
Stock BBAC-	CEMBNT 15	+7 7
DADLES-CAND	@ 0	94 /
GOLAGE-INGTX1	FT-B-C-ON-RU	201 27 2
LIVITA	WEREAF JOON SILL	
1-413-00	MCK IST F J GON SIGN	WALL YE SI
1137430	gundo. 9	
00	<u> </u>	
Trucking	01	
10-TRUCK	@ 60	100
	ESSOR	0 1000
	HOE @ b.	1830
Total Cost	cr	10.6
	of laying drain 21	J -
	ges ASSESSED 2	
Total deposit	1 21	57-
Balance due	Lamen	1444
Pieces pipe to	ourh 1-10 FT-1	-277-4-1N
	2-10FT	- F3FT-4-IM
Cu	rb to house 2-10 F1	
Cut at sewer.	9/2 FT	
Cut at curb		
Size of pipe	GX4-TN- TRANSIT	te-Pype
Correct		
	18	1
	Som	1 Jaw
	//	Foreman

OWNER-SUPPLIED- PIPE